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. by poisoning their enemies (6 marks)
. SOme acacia trees (6 marks)
. They have / use sharp thorns (like cactuses) or sharp hairs (like stinging nettles). (6 marks)

. togetto (5marks) 5.seed (5 marks)

. Horse chestnut trees use a sticky substance to protect themselves. / Some acacia trees use ants
/insects to protect themselves. / Some acacia trees in hot African countries are protected by ants
which live permanently on their branches. (6 marks)

Plants are always in danger from animals which want to feed on them. If this happens, the plant can
be damaged or even killed. (6 marks)

. C. how weak gravity affects human beings
. b. The way microgravity affects the environment.

12. one of the main goals of the ISS (6marks)
13. economic and environmental (6 marks)

21. Where have you got your guitar from? / What have you got from a local shop? (8 marks)
22.How long have you had it? (8 marks)
23.How much did it cost you? (8 marks)

. Any logical answer is accepted.

. I wish my friend would give me my CD back. (8 marks)
. Many efforts have been made by Syria to save endangered animals. / Many efforts have been made
to save endangered animals by Syria. (8 marks)
. We should stop burning coal and oil in order not to cause more global warming. / In order not to
cause more global warming, we should stop burning coal and oil.
. He must have been thirsty. / He can't be thirsty.

. second conditional (subject +would+V?°) (7 marks)
. present simple tense / future tense (7 marks)

. (6 marks)
. had looked for / had been looking for (6 marks)
. are trying (6 marks)
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(10 marks) sulall e 4l

38. The car lights \The lights of the car are on. The driver must have forgotten to switch them off \ turn




